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By 3% A FI07T4£08 H 02 H eI Dt e/ 89 ku (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R AbE 10. 00| AHxf 312 3,120 1,404 900 648
IENE b 10. 00| AHxf 210 2,100 2,376 1,605 1,404
H X E % 15. 00 | AH%F 359 5, 385 864 677 540
X D FiE 10. 00 | AH%F 400 4,000| 1,004 883 540
H % i 3. 00| FHxf 218 654| 1,393 1,144 324
i A ] 1L 1. 00| FHxf 245 245 864 679 432
ENIE sool A%t 7| 35| 3,240| 3,086| 2,700
AN B 5. 00| FH%} 250 1,250 2,484| 2,035 1, 296
ENIE 0.50| fxt| 1,516] 758|  184] 135 108
EN N 0.40|#A%t| 1,220 88| 173 153 97
= =% 4. 00| FH%f 596 2,384 1,836| 1,533 756
[N 5 5. 00| FHxf 24 120 1,944| 1,730 1,674
EN N 5.00 fxt| 624 3,120] 1,836 1,420 648
B—< = 0. 15| FHx} 1, 200 181 97 93 92
I o)1 10. 00 | #H%f 600 6,000 3,240 2,369 1,296
A7 k= b AL E 3. 00 | FHx} 801 2,403 2,592 2,172 1,620
ot g, 00 | FH %} 13 26| 2,376| 2,152| 1,404
B = O JE 50 | FHxt 100 50 292
H 7% w5 5. 00| FH%f 180 900| 1,944| 1,764 1,512
£ A L 10. 00 [ ¥ 624 6,240 1,728| 1,540 1,080
LA E % 10. 00 | #H%f 746 7,460 2,160 1,338 972
==L H A £ ¥ 4. 00| FHxf 520 2,080 2,376 1,590 1,080
T AR % 0. 10| FH%} 1,021 103 216 118 86
L xon A 4. 00 | FH%f 3 12 6, 480
AEMEE O 0. 10| A8 | 2,000 200 162 97 65
ZDEH E % 0. 20| FH%F 1, 500 300 54 45 43
LU E % 0. 20 | FHxf 150 30 70
AA Fa—yv E % 5. 00| FHxf 440 2,200 2,106| 1,539 1,404
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Rz AFI07T4:08 H 02 H EFER S 35 b (Biir)
fh 4 JE Hh = (M| E=E e T fE g2y ]

EK w5 10. 00| AHxf 9 90| 8,923| 8,654| 8,042

PE i % 5. 00| FH%} 320 1,600| 6,480| 3,799

Bl X K 0. 35| FHxf 150 53 475 320 216

= A4 0. 50| FH%F 640 320 594 566 486

A=Y a4 10. 00 | #H%f 1,119 11,190 4,266| 3,702| 2,268




